F2T KEKRUVFRAKKEREFR(HTM6EI10A )

#akigsk
BT B R 4%
% = 15 K B E %
WMt
1| — s [CFU/mL] 100 CFU/mLEATF 0
2 | KIEE BHEShZNIE g
12 JvRRUZDILEY [meg/L] 0.8 mg/LLAF 0.10
34 HBRUZDIEED [mg/L] 0.3 mg/LLLF <0.01
38 LA A> [mg/L] 200 mg/LEATF 5.3
42 UxFRIV [mg/L] | 0.00001 mg/LATF <0.000001
43 2-AFILAYRILRF—)IL [mg/L] | 0.00001 mg/LATF <0.000001
46 HiEY (£HHKR(TOC)DE) [mg/L] 3 mg/LULTF 03
47 pHiE 58 LIt 86 T 74
48 Tk RETHCEL BEREERDHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 &E [E] 2 ELUT <0.1
Kig [°c] 26.9
WERE IR BIER [mg/L] 0.3
#aKERIK #akAeK
£ L =EY
® = 1 KB E %
ZETIER mE
FHOYRAMES | IZ2a=F4/3—7
1 —HEHEE [CFU/mL] 100 CFU/mLIATF 0 0
2 |\ KEB&E BREIhANIE ST TR
38 &k AAY [mg/L] 200 mg/LIATF 5.1 5.1
42 OxFRIY [me/L] | 0.00001 mg/LEATF <0.000001 <0.000001
43 2-AFILAYRILRF—IL [me/L] | 0.00001 mg/LEATF <0.000001 <0.000001
46 AHM (2FHKR(TOC)DE) [mg/L] 3 mg/LULTF <0.3 <0.3
47 pHiE 58 LAt 86 LT 7.3 73
48 Ik BETHICL BEEERHT BEERHT
49 BK BETHICL BEEERHT BEERBHT
50 B (] 5 EUT <0.5 <0.5
51 EE (] 2 EUTF <0.1 <0.1
Kig [°c] 27.0 29.1
HEREIX BIE R [mg/L] 0.4 0.5
#hkigsk
) B EN
% = 15 K B E % T ATER
BEERHK
AER 2%
1| — s [CFU/mL] 100 CFU/mLEATF 0
2 | KIE BRHEShZNIE Tz
38 LA A [mg/L] 200 mg/LEATF 5.4
46 HiEY (£HHKR(TOC)DE) [mg/L] 3 mg/LUAF <0.3
47 pHiE 58 LIt 86 LT 73
48 Tk RETHNIEL BEREERDHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 &E [E] 2 ELUT <0.1
Kig [°c] 29.1
WERE IR BIER [mg/L] 0.3




F2T KEKRUVFRAKKEREFR(HTM6EI10A )

#akigsk
B EN S
% = 15 B K B E %
R
1| — s [CFU/mL] 100 CFU/mLEATF 0
2 KBE BHEShZNIE g
12 JvRRUZDILEY [meg/L] 0.8 mg/LLAF 0.09
34 BRUZDIEED [me/L] 0.3 mg/LLLF <0.01
38 LA A> [mg/L] 200 mg/LEATF 6.5
46 HiEY (£HHRKR(TOC)DE) [mg/L] 3 mg/LULTF 05
47 pHiE 58 LIt 86 T 74
48 Bk BETHIL REZZHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 AE [E] 2 ELUT <0.1
Kig [°c] 26.0
WERE IR BIER [mg/L] 0.5
#aKERIK
A EN
1 = 1 8 KB E %
BhhorE
1 —HEHEE [CFU/mL] 100 CFU/mLIATF 0
2 | KIE BmIhizZe T
38 LI A [mg/L] 200 mg/LIATF 4.9
46 AHM (2FHKR(TOC)DE) [mg/L] 3 mg/LUATF <03
47 pHiE 58 LAt 86 LT 7.3
48 Bk BETRHIIE BEEFEZEHT
49 B BETHICL BEEERHT
50 B (] 5 EUT <05
51 AR (] 2 EUTF <0.1
Kig [°cl 29.4
R B IE R [me/L] 0.3
#hkigsk
2% -THREK
% = 15 B K B E %
EFHEKG
1| — s [CFU/mL] 100 CFU/mLEATF 0
2 KBE BRHEShGNIE g
12 JvRRUZDIEEY [mg/L] 0.8 mg/LLATF 0.09
34 BRUZDIEED [me/L] 0.3 mg/LLLF <0.01
38 & AA> [mg/L] 200 mg/LELF 49
46 HigY (£HHRKR(TOC)DE) [mg/L] 3 mg/LULTF 03
47 pHiE 58 LIt 86 T 6.8
48 Tk RETHNIEL BEREERDHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 AE [E] 2 ELUT <0.1
Kig [°c] 259
WERE IR BIER [mg/L] 0.3




F2T KEKRUVFRAKKEREFR(HTM6EI10A )

#aKEeK #aKieK
ZE-LEBRE - PERHR
% = 15 K B E %
AL SEIEH
1| — s [CFU/mL] 100 CFU/mLEATF 0 0
2 KBE BHEShZNIE TR R
38 LA A> [mg/L] 200 mg/LEATF 33 33
46 HiEY (£HHRKR(TOC)DE) [mg/L] 3 mg/LULTF <0.3 <0.3
47 pHiE 58 LIt 86 T 6.8 6.7
48 Bk RETHCIEL REZZHT BERERHT
49 RS RETHNCIL REZZHT BEREERHT
50 B [E] 5 ELUT <05 <05
51 &E [E] 2 ELUT <0.1 <0.1
Kig [°c] 246 200
WERE IR BIER [meg/L] 0.4 0.4
#aKERIK
- R
® = 1 KB E %
KEBREHAE
1 —HEHEE [CFU/mL] 100 CFU/mLIATF 0
2 | KIGE BHEINGENIE THEH
12| 7vRRUVZDILLEY [mg/L] 0.8 mg/LLLF <0.08
38 &k AA [mg/L] 200 mg/LIATF 3.1
46 AHM (2FHKR(TOC)DE) [mg/L] 3 mg/LULTF <03
47 pHiE 58 LIt 86 LT 6.7
48 Bk BETRHIIE BEEEZEHT
49 BK BETHICL BEEERHT
50 B (] 5 EUT <05
51 AR (] 2 EUTF <0.1
Kig [°cl 29.2
R B IE R [me/L] 0.4
#akigsk
HHRIE
% = 15 K B E %
HEHX
et s—
1| — s [CFU/mL] 100 CFU/mLEATF 0
2 KBE BHEShZNIE g
7 ERRUZDIEEY [me/L] 0.01 mg/LUTF 0.002
38 LA A [mg/L] 200 mg/LEATF 3.0
42 UxFRIV [mg/L] [ 0.00001 mg/LLLTF <0.000001
43 2-AFILAYRILRF—)IL [mg/L] | 0.00001 mg/LATF <0.000001
46 HigY (£HHRKR(TOC)DE) [mg/L] 3 mg/LUATF <0.3
47 pHiE 58 LIk 86 LT 6.8
48 Tk RETHNIEL BEREERDHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 &E [E] 2 ELUT <0.1
Kig [°c] 29.1
WERE IR BIER [mg/L] 0.4




F2T KEKRUVFRAKKEREFR(HTM6EI10A )

#akigsk
% = 15 B K B E %
EREHN
1| — s [CFU/mL] 100 CFU/mLELTF 0
2 KBE BHEShZNIE g
7 ERRUZDIEEN [meg/L] 0.01 mg/LUTF 0.001
12 | 7vRRUZDOLEEY [mg/L] 0.8 mg/LLLF <0.08
38 LA A> [mg/L] 200 mg/LEATF 32
42 UxFRIV [mg/L] [ 0.00001 mg/LLLTF <0.000001
43 2-AFIILAVRILERF—IL [mg/L] | 0.00001 mg/LIATF <0.000001
46 HiEY (£HHKR(TOC)DE) [mg/L] 3 mg/LULTF 0.4
47 pHiE 58 LIt 86 T 6.7
48 Tk RETHCEL BEREERDHT
49 B BETHNIL REZZHT
50 B [E] 5 ELUT <05
51 AE [E] 2 ELUT <0.1
Kig [°c] 243
WERE IR BIER [mg/L] 0.3
#aKERIK
RE-HEHRH
® = 1 8 KB E %
FES
FH IR AR
1 — AR [CFU/mL] 100 CFU/mLELTF 0
2 | KizE BmIhizZe T
38 LI A [mg/L] 200 mg/LIATF 6.2
46 AHM (2FHKR(TOC)DE) [mg/L] 3 mg/LUATF 0.7
47 pHiE 58 LIt 86 LT 75
48 Bk BETRHIIE BEEFEZEHT
49 B BETHICL BEEERHT
50 B (] 5 EUT <05
51 AR (] 2 EUTF <0.1
Kig [°c] 320
R B IE R [me/L] 0.4




ZL21 KEBEARVEAKEREHER(DHCEIOAS) XEKORBEEKEETEEHONTEYERBAN, KERECRIEREFToTVET,

Rk RK
BT B R 4% 2% - TR
% = 15 K B E %
L Ei5ki5 FE KR
FEKH 153#
1| — s [CFU/mL] 100 CFU/mLEATF 0 3
2 | KEEE BmHEhgnlE T TR H
38 LA A [me/L] 200 mg/LUTF 5 7
46 HiEY (£HHKR(TOC)DE) [mg/L] 3 mg/LULTF <0.3 <0.3
47 pHiE 58 LIt 86 T 7.2 6.6
48 Bk RETHNCIEL REZZHT BEREERHT
49 RS RETHCIEL REZZHT BERERHT
50 B [E] 5 ELUT <1 g
51 &E [E] 2 ELUT <0.1 <0.1
BRMFRE [CFU/100mL] 0 0
KB [°cl 242 200
=¥/3 Rk =¥/3 Rk
SE- LR ZE-LHRH ZE- LR ZE-LHRH
% = 15 K B E %
ZE1SH SE2EH ZE4-12H ZE4-22H
1| — s [CFU/mL] 100 CFU/mLEATF 0 0 0 0
2 KBE BRHEShGNIE TR & T TR
38 LA A [meg/L] 200 mg/LUTF 3 3 4 3
46 HiEY (£HHKR(TOC)DE) [mg/L] 3 mg/LLLF <03 <03 <03 <0.3
47 pHiE 58 LIt 86 T 7.1 71 6.9 7.0
48 Ik RETHCEL REZZHT BEREERHT REZZHT BERERHT
49 RS RETHCEL REZZHT BEREERHT REZZHT BERERHT
50 B [E] 5 ELUT 4l g A <
51 &E [E] 2 ELUT <0.1 <0.1 <0.1 <0.1
Kig [°c] 15.9 15.8 16.8 17.3
Rk Rk
HE R EERI
® = 1 KB E %
HEi%KiG EREHKS
EIKFH BEIKF
1 —HEHEE [CFU/mL] 100 CFU/mLIATF 20 85
2 | KIGE BHEINGNIE B L]
38 LI A [mg/L] 200 mg/LIATF 3 3
46 AHM (2FHKR(TOC)DE) [mg/L] 3 mg/LULTF <03 0.4
47 pHiE 58 LAt 86 LT 75 73
48 Ik BETHICL BEEERHT BEERBHT
49 B BETHICL BEEERHT BEERHT
50 & (] 5 EUT <1 2
51 EE (] 2 EUTF 0.2 0.3
BRRMFRE [CFU/100mL] 0 0
Kig [°cl 18.2 19.8




